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The ratio of income of A, B and C is 2 : 3 : 4

and the ratio of expenditure is 3 : 4 : 5 .

Savings of B is 2/5 of its income then find

the ratio of their savings ?

A, B और C की आय का अनुपात 2 : 3 : 4 है और
उनके व्यय 3 : 4 : 5 के अनुपात में हैं। यदि B की बचत
इसकी आय का 2/5 है। फिर उनकी बचत का अनपुात
ज्ञात कीजिए।
[SSC CGL 2018] (a) 13 : 24 : 35

(b) 11 : 20 : 27

(c) 12 : 17 : 26

(d) 14 : 21 : 29
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The ratio of income of A, B and C is 3 : 4 : 5

and there expenses are in the ratio 4 : 5 : 6.

If savings of A is 1/4 of its income. Then

find the ratio of their savings.

A, B और C की आय का अनुपात 3: 4: 5 है और उनके
व्यय 4: 5: 6 के अनपुात में हैं। यदि A की बचत इसकी
आय का 1/4 है। फिर उनकी बचत का अनुपात ज्ञात
कीजिए।
[SSC CPO 2019] (a) 12 : 19 : 26

(b) 13 : 20 : 27

(c) 19 : 12 : 26

(d) 14 : 21 : 29
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If the selling price of 7 articles is equal to

the cost price of 8 articles, then what is the

profit percentage (correct to one decimal

place)?

यदि 7 वस्तुओं का ववक्रय मलू्य 8 वस्तुओं के क्रय मलू्य
के बराबर है, तो लाभ प्रततशत (एक िशमलव स्थान तक
सही) क्या है?
[SSC CGL MAINS 2020 : 29 Jan 2022]

(a) 14.3%

(b) 13.9%

(c) 15.4%

(d) 11.7%
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In a medical transaction, 17 times the cost

price is equal to 8 times the sum of the cost

price and the selling price. What is the gain

or loss percentage?

एक चचफकत्सा लेनिेन में, क्रय मलू्य का 17 गनुा, क्रय
मलू्य और बबक्री मलू्य के योग के 8 गनुा के बराबर होता
है। लाभ या हातन प्रततशत क्या है?
[SSC CGL MAINS 2020 : 3 Feb 2022]

(a) Loss 15%

(b) Gain 17.5%

(c) Gain 12.5%

(d) Loss 30%
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A dealer sold an article at a loss of 2%. Had

he sold it for ₹ 44 more, he would have

gained 20%. Find the cost price of the

article.

एक डीलर ने एक वस्तु को 2% की हातन पर बेचा। यदि
वह इसे ₹44 अचिक में बेचता, तो उसे 20% का लाभ
होता। वस्तु का क्रय मलू्य ज्ञात कीजिए।
[SSC CGL MAINS 2019]

(a) ₹ 250

(b) ₹ 400

(c) ₹ 200

(d) ₹ 300
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Hari suffered a loss of 8% by selling an

article. If he had sold it for `300 more, he

would have made a profit of 4%. Find his

CP (in `).

एक वस्तु को बेचने पर हरी को 8% की हातन हुई। यदि
वह इसे ₹300 अचिक में बेचता, तो उसे 4% का लाभ
होता। उसका क्रय मलू्य (₹ में) ज्ञात कीजिए।
[SSC CGL 2020]

(a) 2250

(b) 2500

(c) 2575

(d) 2400
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A person sold an article at a loss of 19%.

Had he sold it for ₹ 660 more, he would

have gained 5%. If the article is sold at ₹

3,080, then how much profit percentage is

gained?

एक व्यजक्त ने 19% की हातन पर एक लेख बेचा। अगर
उसने इसे ₹660 और अचिक में बेच दिया, तो उसे 5%

का िायिा होगा। यदि लेख ₹3,080 पर बेचा िाता है,
तो फकतना लाभ प्रततशत प्राप्त होता ?
[SSC CPO 2019]

(a) 10%

(b) 15%

(c) 16%

(d) 12%
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A bought an article for Rs. 4,800 and sold it

at a loss of 30%. With this amount, he

bought another article and sold it at a gain

of 60%. What was his overall gain/loss?

A फकसी वस्तु को 4,800 रु. में खरीिता है और इसे
30% हातन पर बेचता है। इस िनराशश से, वह िसूरी
वस्तु खरीिता है और उसे 60% लाभ पर बेचता है।
उसका सम्पूर्ण लाभ / हातन ज्ञात करें।
[SSC CHSL 2020] (a) Loss /हानन 18%

(b) Gain/िाभ 12%
(c) Gain/िाभ 10%
(d) Loss/हानन 15%
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Renu bought an article for Rs.1,240 and sold

it at a loss of 25% with this amount, she

bought another article and sold it at a gain of

40%. Her overall percentage profit is:

रेनू ने एक वस्तु Rs.1,240 में खरीिी और उसे 25% घाटे
पर बेच दिया। उस राशश से उसने एक और वस्तु खरीिी
और उसे 40% लाभ पर बेच दिया। रेनू को कुल शमलाकर,
फकतने प्रततशत लाभ हुआ?

[SSC CHSL 2020] (a) Gain/िाभ12%
(b) Gain/िाभ 5%
(c) Gain/िाभ 15%
(d) Loss/हानन 𝟐𝟎/𝟑%
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The cost price of an article is Rs 280. A

shopkeeper sells it by allowing 16% discount

on its marked price and still gains 20%. What

is the marked price (in Rs) of the article?

एक वस्तु का क्रय मलू्य 280 रुपये है। एक िकुानिार इसे
इसके अफंकत मलू्य पर 16% छूट िेकर बेचता है फिर भी
20% का लाभ प्राप्त करता है। वस्तु का अफंकत मलू्य
(रुपये में) क्या है?
[SSC CGL 2020]

(a) 400
(b) 360
(c) 420
(d) 350
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The marked price of an article is Rs. 2720. If a

shopkeeper sold the article at 15% loss after

giving 25% discount, then the cost price (in

Rs.) of the article is:

फकसी वस्तु का अफंकत मलू्य 2720 रू. है । यदि 25% छूट
िेने के बाि एक िकुानिार वस्तु को 15% हातन पर बेचता
है, तो वस्तु का क्रय मलू्य (रू. में) ज्ञात करें।
[SSC CGL 2020]

(a) 2000
(b) 1800
(c) 2400
(d) 1200
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The cost price and the marked price of an item are
Rs. 720 and Rs. 900 respectively. When it is sold at a

discount of x %, then profit is
𝟓x
𝟑

% . What is the

value of x?

एक वस्तु का क्रय मलू्य और अंफकत मलू्य क्रमशः रु. 720
और रु. 900 है । िब इसे x% की छूट पर बेचा िाता है, तो
लाभ 𝟓x

𝟑
% होता है। X का मलू्य क्या है?

[SSC CGL 2020]

(a) 7 
𝟒

𝟕

(b) 8 
𝟒

𝟕

(c) 5 
𝟓

𝟕

(d) 5 
𝟒

𝟕
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